Precalculus Name V\QV
4.2-4.6 Test Review Period ,Date
Convert to radian measure.
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Convert to degree measure.
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Find the point on the unit circle that corresponds to 6.
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Evaluate the six trigonometric functions, given 6 .
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Use a calculator to evaluate the trigonometric function. Round your answer to four decimal places.
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13. cot33° 14. c¢sc10.5

trigonometric functions of the angle

The point is on the terminal side of an angle in standard position. Find the exact values of the six

15. (-12,16) 16. (=1 _2 | N
0 (D 7= h? ( 3’ 3) (%) + (#) =h
b
= -\Jo1 - 2@
-12 h=20 —lo/a\ = \) & —=
)
-2
reduces M
N - Y coco=2
Y SiNne = - A
\ t SINB< '?':3' _~2. 2 = -L = 'fz_ﬁ Csde = -2,
-3 ¢ 23 2z VZb 206
Cos®= "2  Sec®z"% 226
5 3 3
- Sl -lo,3 -5 - 526 See="V
tane =4 cg’r@=.§— Cose="5 - EN 5
3 L' '%_\J_Z{_p \)—Q—.(D 2.
3
tane =B Yz Vs



Find the exact values of the remaining five trigonometric functions of @ satisfying the given

conditions.
17. sqc9=§,tan9<0 Quad ™L 18. csc9=§,cos;0<0 Quad 2
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Find the reference angle 8’ . Sketch 0 in standard position and label 8’ .
21. 6 =264° 22. §=-Z
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Graph the following showing two periods. (Make sure to scale your graph clearly):
23. y=1+3sin(2x—g—) 24. y=2cos(x+7m)-2
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Tell whether the function exhibits damped oscillation. If so, identify the damping factor and tell

whether the damping occurs as x = 0 oras x — oo.

use graph m,% col eu ooy

3.  f(x)= e *sin3x 32. f(x) =xsin4dx
C\mmP\"\,ﬁ Loctor e'x Adoompi ng Cactsr A
X-> o X>0
33. f(x) = V5cosl.2x 34. f(x) = m%cosmx
No dawmping no  domping
35. f(x)=x3sin5x 36. f(x)= (—2;)2 sin (335)

c\amvxéxﬁ Lactr X3

no  damping

X0
Find 2 solutions of each equation. Give your answers in degrees (0° < 8 < 360°) and radians
(0<6<2m
37. ‘ 38. o .
sing =__;_ 210 & 332p° cotd = undefined D) £ igo
T & O : M
b [/

Use the function value to find the indicated trigono

metric value in the specified quadrant.
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